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INSTRUCTIONS TO CANDIDATES 

1. Write your name, class and register number.
2. Do not turn over this page until you are told to do so.
3. Follow all fnstructlons carefully.
4. Answer all questions.
5. Shade your ans\yers on the Optical Answer Sheet (OAS) provided.













































































LEVEL 
SUBJECT : 

SCHOOL 

TERM 

PRIMARY 3 
SCIENCE 
NON-WEIGHTED ASSESSMENT 

. BOOKLET A 

4 3 

BOOKLET B 

Q23) (a) Living thing X needs air and reproduce.

(b) Living things need water to survive.

08 

2 

.···o.1s 

3 

Q24) (a) A : Circulatory system B : Muscular System 

(b) The skull protects the brain.

Q25) (a) Digestion starts at P and ends at S.

Q9 Q10 

4 3 

019 Q20 

1 2 

(b) The digested food will not be completely digested and the amount of

digested food will be lesser.

Q26) 

(c) 

Amount of 
undlgested rood 

/j} ,-
J�: � n Part of the 

L-L'-'ZP CL..-J'--Q -'-=R=--,_5_,__
---->- digestive system 

(a) A does not make food but D makes food

(b) (i) B (ii) D (iii) C (iv) A
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Q27) 

Q28) 

Q29) 

Q30) 

Q31) 

Beaker 

� 

(a) 
(b) The plant uses its roots to absorb water to stay alive.

. 
. 

(c) The plant needs sunlight to make food. Thus when it is in a black
box, the plant could not get any sunlight to make food. Hence, the
plant died.

Statement Tic.k(✓) 

(I) U is a non-flowering plant. 

(fl) It has a weak stem. ✓ 

(iii) n can make food. ✓ 

(iv) ft docs not need sunlight. 

(a) 
(b) The large leaf can make more food as there is a larger surface area

to trap more sunlight to make more food.

I Materials

Group A Group B 
(i) Materials that Float 

Matorials.that sink 

{ii) 
w X 

y z 

(a) 
(b) Material Y. Y floats on water while X sinks. Since a float for

swimming needs to be able to stay afloat in water, Y is most suitable.
(a) Metal X can be steel.
(b) Steel is a magnetic material which can be attracted by a magnet
(c) The handles are made of non-magnetic materials which cannot be

attracted by a magnet.
(a) The material of the paper clip
(b) E G H F
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Q32) 

Q33) 

Q34) 

magnet-

CD 
(c) X 

(a) B � A-c- D

(b) D. The raincoat must be waterproof so the user will not get wet on a

rainy day.

(c) He should use clear glass because glass is transparent so he can

see through.

(a) flexibility

(b) A as it is the most flexible

(c) B as part X must not bend when the user is using it.

(a) The iron rod will be attracted to the steel nail.

(b) The steel nail is temporarily magnetised so it will be attracted to the

iron rod.

(c) The steel nail has lost its magnetism as no electric current is flowing

through the steel nail anymore.
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